
PRUEBA DE ACCESO A LA UNIVERSIDAD 
CONVOCATORIA DE JUNIO DE 2012 

EJERCICIO DE: LENGUA EXTRANJERA II - INGLÉS 
TIEMPO DISPONIBLE: 1 hora 30 minutos 

PUNTUACIÓN QUE SE OTORGARÁ A ESTE EJERCICIO: (véanse las distintas partes del examen) 

 
OPCIÓN B AL DORSO 

El alumno debe responder a una de las dos opciones propuestas, A o B. En cada pregunta se señala la 
puntuación máxima. 

OPCIÓN A 

Domestic violence - why men abuse women 

Domestic violence is an under-reported crime, so it is difficult for agencies to keep accurate statistics. 

The perpetrators of this crime are usually men and, although domestic violence can affect anyone, 

regardless of their socioeconomic status or their racial and cultural background, women who are young, 

have a disability, or who live in rural areas are at greater risk. 

Men who abuse family members often think that a ‘real’ man should be tough, powerful and the head of 

the household. They may believe that they should make most of the decisions, including about how 

money is spent. Some men who use violence come from lower socioeconomic groups and some have 

problems with alcohol. However, this is not the case for all men who use domestic violence. The 

perpetrator is sober in about half of domestic violence cases where the police are called.  

While some men who are violent may think about getting help, the majority don’t. A man who thinks that 

he has the right to dominate family members may not believe that he needs help. He may blame the 

victim for ‘provoking’ his behaviour. Regular counselling with a trained counsellor can help men who use 

violence towards family members to understand and change their behaviour.  

Practical strategies include learning that violence and abuse is not caused by anger, but the desire to hurt 

or dominate others. The aggressor must also learn how violent behaviour damages his relationship with 

his partner and children.  

 

1. Add True or False, quoting the relevant information from the text to justify your answer. 

(2 points) 

a) One out of every five young women in the world suffers from domestic violence. 

b) Alcohol abuse is nearly always at the root of domestic violence. 

2. Answer the following questions according to the information given in the text. Use your 

own words. (2 points) 

a) Who is more likely to suffer from domestic violence? 

b) May the idea of what it means to be a man be a cause of violent behaviour? 

3. Find words or phrases in the text which mean the same as the following: (1 point) 

a) Hard, brutish. c) Not intoxicated by alcohol. 

b) Exact, free from error. d) An offender, a wrongdoer. 

4. Complete the following sentences. The meaning should be the same as that of the first 

sentence. (2 points) 

a) The situation will go from bad to worse if he doesn’t undergo counselling for his violent behaviour. 

Unless (…)   

b) He went on acting violently although he knew his behaviour was damaging his family life. Despite 

(…) 

c) The counselling programme George has taken is aimed at examining men’s beliefs about violence 

and self-control. George has taken (…) 

d) Counsellors teach men practical strategies, including self-talk and time out. Men (…)  

5. Write a composition with the following title (80-120 words): (3 points) 

Is domestic violence on the increase? What social factors are involved? 
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OPCIÓN B 

Passive smoking 

Passive smoking means breathing in other people’s tobacco smoke. A smoker’s exhaled smoke is called 

exhaled mainstream smoke. The smoke drifting from their lit cigarette is called sidestream smoke. The 

combination of mainstream and sidestream smoke is called secondhand smoke (SHS). 

Most of the smoke that hangs in a room is sidestream smoke, which contains higher levels of cancer-

causing compounds than mainstream smoke. Tobacco smoke inside a room tends to hang in mid-air 

rather than disperse. Hot smoke rises, but tobacco smoke cools rapidly, which stops its upward climb. A 

heavy smoker who smokes indoors causes a permanent low-lying smoke cloud that other householders 

have no choice but to breathe. 

Secondhand smoke has been confirmed as a cause of lung cancer in humans. Its compounds irritate the 

eyes, nose, throat and lungs. A nonsmoking pregnant woman is more likely to give birth to a baby with a 

slightly lower birth weight if she is exposed to secondhand smoke. A child exposed to secondhand smoke 

in the home is more likely to develop asthma symptoms and have more asthma attacks. Nonsmokers 

who suffer long-term exposure to this smoke have a 20 to 30 per cent higher risk of developing lung 

cancer. 

There are various ways to help protect the health of a smoker’s partner and children. Suggestions include 

making your home and car smoke-free as well as making sure that smokers who visit the house smoke 

their cigarettes outdoors, no matter what the weather.  

 

1. Add True or False, quoting the relevant information from the text to justify your answer. 

(2 points) 

a) Pregnant women who do not smoke need not worry about their foetus’s health. 

b) If you really care about your family’s health, not allowing people to smoke at home is not enough. 

2. Answer the following questions according to the information given in the text. Use your 

own words. (2 points) 

a) Why is smoking indoors especially harmful? 

b) Is there a connection between respiratory illnesses and passive smoking? 

3. Find words or phrases in the text which mean the same as the following: (1 point) 

a) In the open air, outside. 

b) Moving along in a current of air or water. 

c) Persons who occupy a house. 

d) Breathed out, expelled. 

4. Complete the following sentences. The meaning should be the same as that of the first 

sentence. (2 points) 

a) The compounds in SHS irritate a passive smoker’s eyes. A passive (…)  

b) Some smokers think that limiting their smoking to one room is an effective measure, but tobacco 

smoke easily drifts through the rest of the house. Although (…) 

c) The smoke in the room is heavier than the air. The smoke starts to descend. Since (…) 

d) ‘Please don’t smoke!, I begged the taxi driver. I (…)  

5. Write a composition with the following title (80-120 words): (3 points) 

Try to convince a heavy smoker to quit smoking, giving him/her some advice on what to do and how 

to do it. 
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Cada uno de los ejercicios tendrá una duración de hora y media y se calificará de 0 a 10 con dos cifras 

decimales. 

Cuestión 1 (hasta 2 puntos). 

Se otorgará un punto a cada frase, siempre que tanto la denotación de Verdadero o Falso como su 

justificación sean correctas. En el caso de que la justificación sea excesiva, se podrá otorgar medio punto 

por frase. No puntuarán aquellas respuestas en las que la denotación de Verdadero o Falso no vaya 

acompañada de su correspondiente justificación o ésta sea incorrecta. 

Cuestión 2 (hasta 2 puntos). 

Se otorgará un punto a cada una de las respuestas, valorando en igual medida la comprensión (0,5 

puntos) y la corrección lingüística (0,5 puntos). Esta cuestión trata de evaluar no sólo la comprensión 

sino la capacidad de comunicar información deducida de la lectura. Se intentará evitar, por tanto, la 

reproducción literal de expresiones del texto. 

Cuestión 3 (hasta 1 punto). 

Se otorgará 0,25 puntos a cada una de las respuestas, cuatro en total. Esta cuestión trata de evaluar la 

comprensión del texto y el valor semántico de algunos de los términos que en él aparecen. 

Cuestión 4 (hasta 2 puntos). 

Se concederá 0,5 puntos a cada frase completada correctamente. Se valorará la adecuación semántica 

(0,25 puntos) y la corrección de la estructura morfosintáctica (0,25 puntos) más que los detalles de 

ortografía. 

Cuestión 5 (hasta 3 puntos). 

Un criterio excluyente a la hora de puntuar en este apartado será la falta de adecuación al tema 

propuesto o la reproducción literal y continuada de fragmentos del texto inicial. La redacción se corregirá 

atendiendo a un conjunto de aspectos y no sólo a la corrección gramatical y ortográfica. Así deberá 

tenerse en cuenta: el dominio del léxico, la organización de ideas, la coherencia, la creatividad, la 

capacidad para transmitir un mensaje, etc. La puntuación se distribuirá del siguiente modo: 

 Hasta 1 punto por la corrección morfosintáctica. 

 Hasta 1 punto por la utilización adecuada del léxico, riqueza del mismo y creatividad. 

 Hasta 1 punto por la organización y presentación de ideas, la coherencia en la exposición y la 

capacidad de comunicar. 

Se valorará el buen uso de la lengua y la adecuada notación científica, que los correctores podrán 

bonificar con un máximo de un punto. Por los errores ortográficos, la falta de limpieza en la presentación 

y la redacción defectuosa podrá bajarse la calificación hasta un punto. 
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